
 

 

 

 

 

 

 

Problem 

Simplify: 𝒙𝟖 ∙ 𝒙𝟐 

 

 

Incorrect Work/Answer 

 𝒙𝟖 ∙ 𝒙𝟐 

= 𝒙𝟏𝟔 

 

 

 



 

 

 

 

 

 

 

Problem 

Simplify: (𝟑𝒙𝟐)
𝟒

 

 

 

Incorrect Work/Answer 

 (𝟑𝒙𝟐)
𝟒

 

= 𝟏𝟐𝒙𝟖 

 

 



 

 

 

 

 

 

 

Problem 

Simplify: 
𝟏𝟎𝒙𝟕

𝟓𝒙𝟒
 

 

 

Incorrect Work/Answer 

𝟏𝟎𝒙𝟕

𝟓𝒙𝟒
 

= 𝟓𝒙𝟑 

 



 

 

 

 

 

 

 

Problem 

Simplify: 
𝟑𝟔

𝟑𝟐
 

 

 

Incorrect Work/Answer 

𝟑𝟔

𝟑𝟐
  

= 𝟏𝟒 

 

 



 

 

 

 

 

 

 

Problem 

Evaluate the power: −𝟐𝟔 

 

 

Incorrect Work/Answer 

 −𝟐𝟔 

= −𝟐 ∙ −𝟐 ∙ −𝟐 ∙ −𝟐 ∙ −𝟐 ∙ −𝟐 

= 𝟔𝟒 

 



 

 

 

 

 

 

 

Problem 

Evaluate the power: 𝟓−𝟑 

 

 

Incorrect Work/Answer 

 𝟓−𝟑 

= −𝟏𝟐𝟓 

 

 

 



 

 

 

 

 

 

 

Problem 

Simplify: (𝒙𝒚𝟏𝟎)
𝟑

 

 

 

Incorrect Work/Answer 

 (𝒙𝒚𝟏𝟎)
𝟑

 

= 𝒙𝒚𝟑𝟎 

 

 



 

 

 

 

 

 

 

Problem 

Evaluate the power: 𝟑−𝟒 

 

 

Incorrect Work/Answer 

 𝟑−𝟒 

𝟑. 

=. 𝟎𝟎𝟎𝟑 

 



 

 

 

 

 

 

 

 

Problem 

Simplify: 𝟏𝟎𝒑−𝟓 
 

Incorrect Work/Answer 

 
𝟏

𝟏𝟎𝒑𝟓
 

 

 

 



 

 

 

 

 

 

 

Problem 

Simplify: 
𝒂𝟕𝒃𝟓

𝒂𝟓𝒃𝟕
 

 

Incorrect Work/Answer 

𝒂𝟐𝒃𝟐 
 

 

 

 



 

 

 

 

 

 

 

 

Problem 

Add: (𝟐. 𝟓 × 𝟏𝟎𝟒) + (𝟏. 𝟐 × 𝟏𝟎𝟐) 
 

Incorrect Work/Answer 

 (𝟐. 𝟓 × 𝟏𝟎𝟒) + (𝟏. 𝟐 × 𝟏𝟎𝟐) 
= 𝟑. 𝟕 × 𝟏𝟎𝟔 

 

 

 



 

 

 

 

 

 

 

 

Problem 

Write in standard notation: 𝟕. 𝟐 × 𝟏𝟎𝟑 
 

Incorrect Work/Answer 

 𝟕. 𝟐 × 𝟏𝟎𝟑 
= 𝟕𝟐𝟎𝟎𝟎 

 

 

 



 

 

 

 

 

 

 

 

Problem 

Divide: 
𝟔×𝟏𝟎𝟕

𝟏.𝟓×𝟏𝟎−𝟐
 

 

Incorrect Work/Answer 

𝟔 × 𝟏𝟎𝟕

𝟏. 𝟓 × 𝟏𝟎−𝟐
 

= 𝟒 × 𝟏𝟎𝟓 

 

 



 

 

 

 

 

 

 

 

Problem 

Write in standard notation: 𝟔 × 𝟏𝟎−𝟐 
 

Incorrect Work/Answer 

 𝟔 × 𝟏𝟎−𝟐 
=. 𝟎𝟎𝟔 

 

 

 


